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often difficult for to decide whether A or B . In my opinion,



A is always better.Some students dont like B . First, they think

because . Second, . Third, .The
Incomparable advantage of A is that .
First, . Second, .Third, A regard A
as a precious opportunity for it is the best way of . And
| confidently believe that doolgoodoodo 2

OO0000000 3.000 0 Those who prefer A have their own
reasons,while some other people prefer B . As for me ,both A and B
have merits and demerits.First and foremost, .
Moreover, . Last but not least, .On the

contrary . In addition, .What’ sthe
commonest, Either ora gives
1 believe O0O00000:10 People’ s

views onl] vary from person to person. Some hold that[] .
However, othersbelievethatl . 0 OO0 000000 od.od
Jo000.0000000000020 People may have
differentopinionson] D0 OO0 00 OO0O0O0O0OO.3

] Attitudes towards (drugs) vary from person to person. [ [ [ [
O0O00000O0O0O. 40 There are different opinions among
peopleastol] OO 0.0 0O 0OOOMOMOMOO. 50 Different people
hold different attitudes toward (failure). O (U O)O O O O O O O
0 O .00 O 10 Taking all these factors into consideration, we
naturally come to the conclusionthat] DO OO0 0O OO0OO
0,0000000000 20 Taking into account all these
factors, we may reasonably come to the conclusion thatld 0O O O [
Jo000,0000000000000 30 Hence/Therefore,



we’ d better come to the conclusion thatll O U ,0 O O 0O O O O
[ 00O O O 40 There is no doubt that (job-hopping) has its
drawbacksaswellasmerits. O 0 OO ,000000O000.5

(I All'in all, we cannot live without[d But at the same time we must
try to find out new ways to cope with the problems that would arise.
Jo,00doudodooo.ooo,0boooobooon
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similarly, likewise, in the same way, in the same manner, equally.
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